ITER JE3 b &Y U EGELEHRIEEE 7
A=2xtm I 7 —a2=v ~OEEETFH
EIEA R

RS

N ST B T8 TE N B R B 9T BE RS i
AR 7 = — 3 B RN e AT
I TERZuY =7 M EHAIBEREZ LV —7



Lo AR et et et e e a et se bt e s et b e s e nseaessnaseresan
Lode D ettt beh et bttt a et n et b et sttt setene e enas
1.2, HAUBL UM oottt b ettt bttt n bbb st enenens
1.8, FEZEBIIH oottt bbbttt
T BEBIIIIT oottt ettt a ettt s s st eanas
LB, ] ettt a et s e bttt et s e ene
LB B AT ettt sttt ettt et e st b e e tt e s b e reesb e re e st ebeeseenbeeteessesenns
LT I A ettt r e st bbb e ae b e ese e st ebe st enbeeteereeneenns
L8 REEZEME oottt
1.9, BB R et b e bbbttt eteeae et et e b e s nnns
1,10, S OVl ettt et a e bbb nsens
DO 0 S OSSO SRRTSRRR
T.10.20 B ettt bbbt b ettt a et s ettt besen et ebnas
1.11. B L B oottt a ettt b b sttt n et s et s et bt n et sttt esenens
112, TERE T 2 U T £ DBEDR oottt
113, G PEHE K O IE R DB o
114, T U = UBEATEDHELE oo
115, GEFTERL « B oottt
LL16. DMl ettt a et st n ettt et et eene
LoL7. ittt b b s ettt st s e

2. B AR ettt b bbbt as s bbb betebe s st tesenee
2.1, BERRERSFEEBBR ODMEEL Lottt
2.2, QST DD DHEHY oottt
2.8, FRBETRDBIIT .ottt bttt bttt
2.4, BRI EZE oottt b ettt s s nenne
2.5, QST DME oottt
2.6, FEHIEIZEDVEAR oottt bttt s s

Al — 1 [AERCRNTESTSNE MEREX2 )7 1 OffR] [CBIT2FE]

BITR—2 IR BB REIIZRTE oottt ettt bbb bbbt t e s anananaes

B#K Task Definition Form2 Replacement of Mirror 1 and 2

.3



1. —R&iEHx
1.1. #4%
ITER J&50 b &Y AEEGHEEEN 77 X< X 7 —2= v b O ReRSTHEERER SR

1.2. BHRUBE

ITER FHE T, HAITEL & A Y CEELFHAIZERE (LT TETS) & 9,) OFFELZHEYE LTV 5,
[FEEE O D 1 D Th D77 A%t 7—2 =y ML, NEERERHERBRTIMLE
L s,

AT, ENZHFZEBRRIE N BB A EINIZCBR S ME (LLT TQST) &9 ,) DEREHR O
ELE T A= MI T —a2=y b Ey 77 v 7TE2ZHNT, EIS O 7 A<%fHIT7—2=v k
MIEMRIRSFCED 2 & &2 FRET D72 DR AT 9,

1.3. {EXEHE
(1) 7I7X=Htm 7 —2=v ;ORI R E
(2) 77 X=xtin 7 —== b OERHRTEERR
(3) BRSO
(4) FRHKEDOIER

1.4. RIS
SEE DHEEPTE
QST JRETT 2 — a Y REEANNITERT o atHl B s

1.5. #hHA
S84 2H 27T H

1.6. #AGFER

(1) WAL

ARERIRARE T 1A] 111 801-1

QST HBE( 7 = — 3 a U RVFEEARIIFEAT St G B R

(2) FANZRM:
FRAJE L

1.7. #AY
LY IR RN E  —X

18. ®REFH
L7 IR TRAR O FE# M O 2 IR THER O F2fill NS T 5-dh O Al 2 QST 23R L2 Z
LExbo THREERKLT D,



19. IEHEHE
X E4 FIRREE H RE = g 7
1 | EETREE ZLRIKEAGE % 2 B LA BF77rAN | 188 | REE
2 | fTAEEEek A% 1 BN B T4 | 15 | FE
3 | B EEE AERBRAG 2 BRI E T L OET 7 y
7 A 1 b =
4 | ABmEE FREBRSE T1% 2 W LA D> /A a1 MEOETF7 | 18 | A
7 AV
5 | BRIEERY FRBRSE T8 2 W LAN D> HA fi B 77A40 | 1K | RE
)
6 | BRI VEZERHLED 2 BRI E T IS 156 3
(QST 5 EkE KTHAZEND L LAIIRED Z
iﬁ) ko

B, B 77 ANVORBETIEX, BF ALV XUIQST D7 7 A NIHF L AT A& LT

1TH5bDET 5,

(R NEFEOMEE T1E)
QST 13, MERDT=DITRIN S NI XEEZHE L7z & &3, HIRA Z50#H L 7= 2 #E L
TRAT 2, £z, YEHIRETICHEELTT L, JELRWGEIIIEBELfERL, BIEF
AR LN EEiE, ZELEbDOLET D,

7212 L, BMESRUKHEICOW T, QST 23 sz,

1.10. XERRUVESH

1.10.1. X#H @
L

1.102. E5 &

HHTHEZET S,

RERO IS D= O ML R D LT O ma TG 5, BEH L ORANILR 2R L OTFIEIC SN
Tid, WD LRET 200 LT 5, HEIIR DAL OO HAM G ZEHE OB

k—é—éo

1) 79X HmMITg—a2=v " EVvIT VS

2 moigk

1K

10

3 v—¥—2frEt 13X

(4) ZEMRER (Fr—71VELETL) 186
B) ETAHBAT 28

(6) HEAHIEME PC 25

(7) #ABplox#ER T A

1.11. REEHE

13K

ZIEHF L, AROIBITICN 20+ 72 W EE AT 5 2 &

1.12. BEHEF2 )71 OFER
Bt x =V 7 4 OHRIZOVTIE, BIR— 1 TARKIZESWTESFT & fRtx=V7

4




4 ORER) (BT HE] IR T B0 £95,

1.13. AHIBAEEAE R UBTERF O Bk L
(1) FA) A PERESE O B

HHM BEEMESS O BRSOV T, BITR—2 T MR OSRTE ) IR LB &

Do
(2) HITEE#®

SZEH X, AR EFTRET D Z LI L > THEHEMEREZ S = F IR L LD &35
(21X, HONCOEMIC LD QST AR EST IR B2,

QST NAZFNCE L, =D B A ERT 5 72O EEH ORA T 2 Hil R4 79 54
SNE UT-8A03. QST &EZEHDOWED b ZIER XYL B # 4 28 T QST 124
g2 &,

(3) R DB

ZEE X, AZINZE S EBONE R ORERIZONT, BERAE L ATAB L, XIXFF
EOFE —HITREL LY T80T, HONLOEBLD QST OEBEELRITIE R
RN

1.14. 7)) —VEAEDOHE
(1) AREHIZBWT, 77U — AL (H%ICX 2EEY NS OFHEDOHEES B3 5 k)
T A RED S (FEHN, OA a%) BNRAETHILAIT. ZheEATs00L
T 5,
(2) AHARICED AEHRE GIAFRY) 2oV TiE, 7V — 2 EAEOEARFEHCED S
HHE ] OIRELE-LIZbDOTHDHZ L,

1.15. BRER - HEF
(1) FEzewmtis
(2) QST REMIFE - HIAISE
(3) o, ZVEEFICEA UEM LT EN T XS R TO®ES - ik - LEE

1.16. T D1t

ARIET, JeEFRIBIRM COERZICER s D,

(1) ZEEF, FEMOY R THEAA Y MEfTH) EEHIT, EEYRIC QST HYEE L L
WY =NV Ry IV AI =T 4 T EATWO, fFERORRLZHET L2, VAIZTEARA Y
MZOWTIE, U A7 OWNE LA, SR IZOWT QST HYFICHIAXILET A
—VTHITHZ &, £, MEIZN U T, BRMROTOITHE U & 2 1EE5 T8
N B R

(2) AVEEZPBIAT DHNC QST MMTHIRLHBEIEZITHZ L,

(B) TEZEDLAF/AEHIL, BRIV, ZEFOBEMIZBWTHEMIZITY Z L,

(4) 1EZERT~ B E TIZLL T OBRMEVER L, QST H4FICHE T A — /L Tkt L TR &= 1
%zl R, BRER, EOhIEmT 5,

O EEFRR
© TEERHIE
@  FEHEEAG R

(BG) TEEHIX, FICEHEEELZ 0T 2%, ZELKOEERICHIERT D Z &, BENEE
L7BRIE, Zaffro b, QST OFERIZHED Z &,

(6) ZEHEIX, AMEEICHERT 285, BEOF THESICLVLZEEZERHI>BNLOH LD
[ZOWTIE, $REIBL LR RS 2 i = &,

1.17. e
AERREFICRRHM SN TO D FEHK AR ISR O R WNFIHIZOWTERER P E LT E1,
5



QST LD b, ZOWREIHESI LD ET 5D,



2. Rtk
21. ERETFHRBROME

X 112, ETS OAR— b 7T FNENNFRMTOIRELE 2 RT, A— 77 7NELEFER
DORESFERRIL, FHARERE 2 = — (LLF, TDSM) £ vv9 ) 1AV MEE S b, EIEEFRIT,
REGRARHEBRTFRARETH DL ZENROLNTND, AT, I Xw%HI T —=
=y MZOWTC, AHOFOEEZ2HHLIZeRy 7 —A (v=F=l—%) ZHWT, =E
BAEIZ L0 R ATRE T B BT 2R 2179, ARIL, I 7 —KOE DD DSM IR %
B L CQSTAEL 179 X2 M 7—a2=y hEY 77 v 7 ROMmYIHEE (1.10. 2 THIZ
ARG, M2 ITBlEZR~T.) ) aXEERTAT L7 L—r RO~ = o L—2 & VT
FT5Z2 21280175, I RAwHMIT—a=y NEY I T v 7 ROMOIEEIZ, REOIEE
% b QST CHIEBHRICHER SN D Z &b HSMEMEIC X 2753 DRAN D 72 WG T K O I
KO ARBEOIEHENFENE SN D LERD D,

¥y & — e, ol

M6
TS5 AIHMAIS—a=y b
(M1, M2)

N

i
\
|

X 1 ETS DR — b7 Z FINEN TR T ORIl E



K2 7I7RX<xtfITd—a2=y b7 7T v RORHYIBEEDOINE

2.2. QST i b O

QST BB 7 = — g R AHANFE AT e G HRIBH I IV € QST AT 577 X<t
M7 —a2=y My 7y 72 EEPHR LCEBHRICEET 22 &, EHAEICT X
<RM T ==y FEV I T v T EEESEDLDD 7 L— AL QST MTH> b LT 5,
TIAZKMI T —a=y by 7T vy TUSNOE LT, FHICANTREET QST 7632 HE ~
FlEPET, MEKROBIIELE, &5 X2 QST M OZEHEOEEIT~RHTHZ &,

2.3. HARZROMIL

ML 7 L F O MV 2 & 60Nm IZERET 5 2 &, KIS ITRT X212, 7 b— 2 ROkl
v =Ea b—¥ AT 2EBRTFHRBERMNICT 7 A f 7—a2=y hEY I T v 7, BV
BEER NI Vo TFEFRETH L, $, I T7—OMERONEREZAET S0, 6 BOL—
P—INZ (AT T v 7 A« =72 —4# CD2H-3502) %277 A=A F—2=y hEv I T
> 7 EOFTEDOIEIZRE L, BRE L — =B 5 HHEA PCICRMT D52 L, 2B5DH AT
DORREALE K OA &L, RBRPICRERRETH D Z &,



Pacl-El 2l A Hh X ZHEBPC

|
|
I
:7'7)<3 |: :

1
| " I dss :
[ i |

9 :
S | ¢
! |
' 7 XTHE  —— L—¥—Efidt *1
: I5—az=vy b | |
| EyoT7v7 | |
| e | L — — R EPC

1
l R
| 1 I
|

: : 1 -
e | RELEE

X3 FRERROME

24. RBERMEE
AT, QST ONEWD FTIThNDbDET 5, RBROET, BIESIZ L0 HIT A TEEZR

WV EUTeREIL, QST & DRI LY . ZOROIEERET HbD LT 5, ABRATC, FBRE

HEAER LTI L, QST OB E%T 5 Z &, R TR, Bt E4ER L TRIHT 5

Z &,

(1) 1E2E0FmE I, M [Task Definition Form 2 Replacement of Mirror 1 and 2] @ [Remote
Handling Sequence| ([Zit#D L0 95, BEHEHAZETLILENDH DG, QST & ik
Db, AEROREICHED Z &,

2 RBIEDE~Y=Eab—2BEERT T Azt T —a=y bEY 7T v 72T 5
72OD D LTINS, ZEEN 1B AT 2HE L, RBRIEEOBBHRY &K R E T 5 2
&

@) L—YP—ZE FHZ LY, I T—DNEROCEBREZRETDH L,

(4) EHERERSTOBHRLEHER O, Wb &z & HIZ4E, FH5 RV IRLAITY 2 &,

2.5. QST ~D#EA

QST 76 O L [FAFRIC, ZEFEOFEHTT 7 AHMIT—2=y FEY I T v 72 iln
L, 77 A</ 7 —a=y by 77 v T7UNOEEMEFFHO LT, QST I 7 22— =
CREEARDIFERT SRR E TR R a a0 2 &, AR, IO AiA L Tx
HEENGIEMD Z L,

2.6. RHRIZDERK
(D EETERERTIE, 2.2 H1DL 2.6 HOEEFEMMNH X O/ RHMNEORHTER 2505 X
INCFLET D Z &, BEITR U THEDIENR L S BT LT 5 Z &,

9



(2)

€)

(4)

(5)

fFIEEEFRIIIHHE LCEHA OAR ST IREFH, LERT 7 ar, HEFEKROZD
HIRZ T 52 &,

ABRERHE I, 2.4 THICELHE L 72 EENBE OIE), ERRRSTREBEIHNIZB T 577 X~ %t
M7 —2=y bEv 7T v 7OREME, ~=E =2 L—FBEENENT LI AT ORE
TGk E, v~ = a b= Z VT ERRIRSTERE ORI B D D 5l AR Ldl T %
Z&, Fe BB R T 2EEERE I OWT, REFTIEOMEXROT — 2B ERmT 2 &,
REAREE T, 24 ISR LB FIEICBWTHRE LETEZANWDS Z 212 kY | =R
SERICBIT DMEEO LT S MORBEAZMIT 52 L, o, LEITS U T, MEEEPS
T—ORBWELZN ELT25700FREEELEDDL L, L=V —EAFOREMIL, BIHK
[Task Definition Form 2 Replacement of Mirror 1 and 2] ® Remote Handling Sequence ]
D BRI e OV TIRFICEERIREER T 2 2 &

AREBREERE BT, RBREEEORRICLY QST BB LIEREFIELOT —F2EAT
TR 2 2 &,

Uk

10



AiiE—1  [XRZHICEVWTETFIAE IMFEREF2) T« OHER] ICET SFIA]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

ZAEFIL, EODBITICE L., HHI A7 & ([FHRAEHLOCEEICED L VAT LA TH- T,
—Rox7, VY7 Uo7 EORy =7 W NCREEER TR SN b DE WD ,) EFH
T 55121, QST OIEFREONER S AT L ER#ET D702, [HHT AT L0 O #IEZ
W, 3B a—F T 4 )V ADRANFEOR IEE OB FEE A U T iUE e 2R,
ZERIT, ROK ST 2 HIEA BT 5130, QST OF#RE X2 U 7 RO THIZ,
QST NMERFEREITol & XL, ZORRIEDRIT UL B,

TR, BROEFIHEDLE (LLT [EBHYE] Lo, ZREL. 2R oEITE
¥a IETERL RN,

ZEEFIL, BRI LTEYS2ER (QST IS & EIREa vt a—4Fu s T LEEY R
O BHEMSRE G, LTHRLC,) 2RO HHRY AT JTOWT, EBH Y E LIS YL
WIZT 7 BAAREL A2 BV K S U T 7 B RHIREITH 2 &,

SEFIL, BRI L TR B ERETR Y ] O RS AT KON T, U4 L ARRY — L
BOZ 7 AT Ur—UEREOEAN, X2 VT 4y FOMAE@EYeEREx =2V 7 ¢ x5
EMTDHZ L,

ZEHEEL, P2P 7y A NKHY 7 b =7 (Winny, WinMX, KaZaa, Share %) KOV
SoftEther ZE A L7-fFH A7 AMZHN T, ZRICE L T B EHRERY H-o TE R b
AN

ZIEFIX, QST OEGEDORWRY | ZAIBI LT b 7= 15 % QST I EH OfFH s~ A
T LUSNOTEHR T AT B CEBHYENTAT 58 2 %) ICBWTEY > Tdke b
|

SZEFIT, BEE L, XTI THEAZ SEEHEEIE. YS%BE UL THAEZ ST 28 OFMIH
T 5 AT T, QSTIZK LAETOELEZA S L& bIC, YURBMTL I THATZIT &
W LT, BHREF 2V T 4 OFERICOVWTHERIEEZH#HT D L )80 TER bR
W,

ZVEHEIT. QST 2RO -BAITIE. FHREF 2V T 4 SO ERIRILIC O TOER 25 1F A
. It hTasZ &,

ZAEE L. QST OfEHE L 72 H N Z R K OFAE L TR X T 2B RN EB O T
IR LB ICHOWT, KE, ke, i, &S, EH, Fav, aryva—Fv 12
2R D #E, RERRM, NET 7 B XA ZDOMOFEKPHE, UIETL2BENDOHLZ L%
oo aid, EHIZ QST IZHE L, QST O RIZHEI D LT 5, EROKTHRIZE T
b, FREET 5,

728, QST D AFLIZBINT 28546, XX QST 226 0 AfEKIHAZ T 2 5A1cH . it HEs

WL TCWEE & £,

Pk

11



AF—2 MBI EERRNRE

GBI PERES D EFS
Fl1ek ZORKREICEWT [HMERE] L1X, ROBFITEIT2H0%201 9,
— FrARE (BTN 34 AEIEEEE 121 %) (CRUET DKM, EAPHRIE (BB 34 48
IERES 123 5) ICHUET 2 AWM., BIRlE (HEFD 34 ARIEA 125 %) ICRUE
T HREIEHE, PEIRERERIEE O RIRKALE (2B 3 5 1A (AN 60 A1E/EES 43 75) 12
FUET 2 RIKACER M, FRETE CERR 10 RIEEEE 83 5) ([THRET 2 BAEHEK
OSMNENCH1T D LS HERNTAR S 3 D 4R] (LLT#PRL T [PEZEMPEMES) L\h9,)
= RRREICEUET 2R AT DHER ERBRIECHET 2 EHAB RS
T OMER, EIREICHUET 2 BRI T DHER, P EARSER Rk ORI AL E 2 B 5
DIEARITHUE T 5 IS ECE R I E ORR E DB &k & 5217 DR, FEEEICHET 2
ARGk A 52T D A L OMENZ I 1T B _EROAHERICHE Y 3 2 HEF
= EAEHEIE (BRFD 45 AEIEEES 48 ) ITHIE T D E1EME CEIEMEIES 21 &b
% 28 SRETITHIET DR TOMRMZET,) KOSNEIZIIT 2 FEHEICH S T 24
Fl (LAFRBRLC R & )0)
M0 R8T DHERI ORI R & e B WEiE® D 5 &, MET 5 Z &3 ARe/e
HLOTH-T, o, MEMNEDOHZ LoD, FH O B, FriEET
60 (LIF 1oy End,) Z T 2R
2 ZORRREIZEBWT TFIH%E] 21X, RKOBFITHITDHHDE VI,
—  RFFEOXR L 72D DIZOWTEZE DI
= EAHEHEOXNGRE D HDITONTIEEDER
= EIEAE, [EEEER AR OEEHEORIR L 72 D b DIZHOWTEZEORAIE,
FREMEDH R L 72D H DI O TUEZE DB RIENT / 7N &+ B HER D
RIB L2 D DIZHONTITE DR
3 ZOOFRFETRTHRIMPENED [980) LI3, FRFERE 2 SITED D174, FEIHEES 2
R STEITTED DA T4, BIFIES 2 5550 2 TAITED D1 T4, 1EIREREIA1 I o [7] B B 8 12 B 5
DL 2 S5 SHITED D174, FHHIES 2 RE 5 HIZED D174, HIFHEIER 21
FNOE 28 K ETIIHET 22 TCOHFNCESEEEMEFIMNT 5174, FEHIES 2
FESTHICED DITAEKL ) N EERT 21784520,

B2k TX, AZHICE LT, CABMTRIIST 7= & 213, ZAROEZOVTHOR
LT B T & A B THRICE T A, MERIISITR D MAMERE S 2005
FEOZTRNLDET S,

— T, AHNARD RIS 2AT > T AL, WEROBUEI ST 2D 5%
FIZHET 2,
= 4iE WOEOERSICESE AKORE DI DICFFICHERHH & LT OH

12



HZ BN L TRD 2355100%, MEE CYRMAM EME & i3 2 MR 2 [E12
T b
=L SR PERE A AL HIRTE R L W AW LD B, o, SR
A PEME 2 AR S HARTE ] L TN 2 S IO W TIES AR B 23D H LR WA
BT, HDEOEGFITHED Z YL EAI PEHEOTE FH 2T 2 72 O ITRFIC L B
NHDHELTEOHAZPLMNILTRDD & X1E, Y EEL Ehid 5
MER A 25 = F 26T 5.
MU i, 55 =Y n i BEHE O R R T Y 5% A A BEAE LZ D) C O B 2
e (CEEREE Te,) #5 L <IXEHFHHEORRE Z O B ARE NI U THE
W IS HHERI DR TR L < \IBHRDAEH (LAT [REFHFEMMES ORESE] &N),)
25 L &L, AUFEIISENC K VBT 256 K OROA DOANETICHET S
SaabrE, Do CORIZEITH, FOAREZZIT RITIER 520,
A ot (SthiE CERE 17T EEEE 86 =) 2558 3 SIclET 5 +ait%
W, LIFRIL,) XITH et (SHEFR 2 & 4 5ICHET 2 Blattan ),
PUFRIC,) (&SR PEME OB U R HE S O ES & T 556
2 K TLO (KFPFEICKT D2HMCET 2RO REFE¥(EE ~DOF
RO D5 (R 10 SREEAEE 52 B)5 4 5555 1 HO KR A Z TE
(FRESE 5 &5 1 HOE R OARZZ I T-H 2T, DUTRET LO ([FIESE
11 5538 1 THORGE %521 T BN 3L N0 U PEME O T 85 3 38 FH SE A S5 D%
EEET D56
N CREIRIZE G TH DA, LT DA BIZ G55 FEME 2 B85 X
XA LS OB ES ST H5E
2 ZiE, APEICEUET HEm AN L WS, FBiERE ST 72 & Z ISR PEFE 2 R ICRE D &
72U B,
3 ZlE, F1ECHET D ERAZTEH LI b b 57, [FIHESBOREDW TN & L TE LT
D>, iz LCUVRNZ LT DWW TIES 2B R 2 E DGR 2 5 A2 BV T, B bRk e 7=
& LY EIMBIM PEME 2 B CHUCEE Y JE S R IT TR 720,

(FNA A PEME DR )
%35 AIRICEL T, i, AEMIHR D PEEMPEMESE O HBESUIHRFE AT 5 & 13, HBEIHEE
B L TIRHTAREFBHOE LEZRZA T, HO0LORICZEOREZEM L TUER b0,

2 LlF. PEEBANRATE CERL 12 FIEEE 44 7)) 55 17 K5 1 HICEUE T 2R ENHE
PR ERCRICHE Y T 5 O T, D, REICR D ENORFFFHRE, EAFZSeRE, IR
PRI ZAT 5 AR, FRREREA TR (BRFN 35 FmpapE a0 10 SR HBTRIEMr TR
(W70 35 PG PEREE B 11 &) KOEIEERITHA (BEF0 35 @i A 0 H 12 5)%
ZHEIZ L, SEHEERICEOZG TR R RO ORRIC L DB TH L F 2R R LR T
AP/ ANN
3 LlE. 1 IR D PEEMPEMESF O MRESUIHFEICE L TRIEDRRE L Z T T HE

13



2k, BREDBGEDO H DD 60 HLIN (7272 L, SMNENZ TRRIE DB 25T 7285548013 90
HLUA) (2, FIZZEOBEEmIC L VE@E LTI o2,

4 0, AR D PFEEMEMSZ B DFEM L2 & E ROE =HICEDOEMEE T L
el x (I2L, FESFREATHET 2562 R<) X, EE LA L 60 HUN
(72720, AMENC CHEMEE 2 L7235a1390 HLIN) 12, FICEOBEmIC L v LT
L7 B 72w,

5 QlE. AEKNARD EEAPEMEFLISNDOFIIMPEME DT, HORDIZE T T, BRIZ L D
ki Jo OV =B ~ D FEHfiaFar ORI A I K0 FICHE LT UTe 670,

(DB TAT - 7 5 W15 D FNHI I ERE DR HER)

FASR LiE, REKICE L TR BMTIT o 7o 3SR 2 M EEHE & 8 —F TR 558 (K
ZRIOEREZTITIE L THRET 72010, BikTUTW A HRT 2 8 A Bis T 256 25
<o) WIE, B2 DHH6KETRUNE 12 FOBEDEMIC I EEL 5 2 720 K 9 MiEEH =F
RIS ERITIUTR B 720,

2 ZiX, MEOBEZITIHAIIE, YEBELAITORNC, FICZ0FERICEIVEmML, H5
D COHOEGREZ T 72U B0, 7272 L, ZOAPEUINENC L 0 BixT 255 KO 2
FEIHFEAZTADOANAETIZED DHEITIT, ZORY TR,

3 JiE B1IHBET 2FE —FNCOFSHXIRIE . (2 b oSt B ARESMAFT 256128
%) Ch LA, [FEEOBARZAT O RN, FICHERREEO b, MBS U CH ORI THREZ1T5 b0
15,

4 ZiF, B1HOBERZTo- L EE, BIEZ1To7 A0 D 60 HEW (2721, SAEIC TR
AT %A13 90 HLUPDIZ, HIZEOEEREIC L VB LRTiUuTe b0,

5 L% 1 HOBIREAT o7 & 13 SRRIMPEME OBIR 2 52T 723813, MRRI PEME IZ DU T
F2RE1IESFLOE SHWTNIE 3EXNDLEHE 6 FKETRUE 12 F7OBUELMETT LD L
+ 5,

(CDN B CAT o T FE B155 0 A FEME O FERFT7#)

H55% LIk ATKNCEE LT LS B THT - 72 AT AR 2 i FEREIC DU o = I IMia ek
TOEAITE, 25, AEKOYE 12 FOBEOMMICIEE 5 2 720 19 M5k = H IR S22
THIER 570,

2 GiE, ATHNBI L TEAHIM AT > TR AR DA PENE B Ly 35 = SR MM S DR AE
F2ATOYAITIE, BEEREF LT OAN, MIZEOFFmZEIV@ML, HHCOPOEFMHIZ L
HEREZT T IUTR B2, 7272 L, ZOAEPUINENC L 0 BT 256 RO 2 555 1 1|
HABADPDBAETITED DHAIE. ZORD TIEARL,

3 i, HFHOE=ZENLOFEHIUIHSE (2 b o2 B ARESMFT 258107 0,) Thd
BEIE, FEORHEMHES OREFEZAT RN, PICTEINER D 5 2, LB T TH LM
THEZITI>bDLT 2,

4 i3, B 2HOERFMMHESEOREEFLTolo L X, REFEITo72H1H 60 BLN (7272

14



L. SAENC TRIEFEZIT 272561390 BUN) 12, FIZZOFFmIC LD @ L2l
72BN,

5 FHZ, AR L T EMTIT o 72 R F IR D FNBO I PEHE 2 5 T A 53R X
VIWFFED T DI FE ST H Z LN TE D, B HOTDICE =FIZ-ESE, IEFS 2N
179 2% =FICHERMEZTET 25681, COK#ELZGZ ETIHBETob0e L, 2D

FRa R FIIR S D O 2 ET D,

(L3 B TAT - T FEWISE O FNBO S BEME D FLTE)
B64 ik, AR LT EITIT o 7o B4R D MM EERHE & EET 2 3 A1,
HRMEFEEAT O IS, WICEOEEMRIC LY @ L iud bien,

(R ORI TIT » 72 3 O FNHI M EEHE D I &)

FTR HEROOT AR L TH ORI THIEFEZIT o 72 & I3 SEHPE TR 5 E
WPERHEIZ DWW CHERIHFERR A AfRE L, QIR CHEBESUIRGET 2 b0 & L, 4i%m
WM PEREILFR R O COIF LT 5, 72720, LiF. ROEZOWTNOBIE HETT 5
ZEAFHmICTRIZmITHEZRT TR B0,

— L, HAEOEFEICESE N LDOFRED - DITRICHLERHDH & L TEDOH
HMZH O L TRD 23551013, B CURMBO M EEHE & i3 2 MER] & [E12
T Do

TLE, SR PEME A AL IRIE A LT e W RO B, o, MR
UPEMEZ AL HIITE A L TV Z SO W TIES R B8 0 DL WIGEI
BT, HREOEFEICHED & AR EEHEOTE 2R 5 7o OITRFIC B
MHHELTEOHAZHLNILTRD D &L, SO EHE L Fii T 5
MR Z B RFRET 5 H =TT 2,

2 RHIEOYEE, HEXIXHEOZOOEFIZFEHIE LT, B, ZOFRSICHE L TAaH
THHLDOET D,

3 i, B 1ETRET 2 ER AR L7 badb b3, FEESOMREDWT 2z L
TELT, SHITMEZLTWRNI EIZOWTIEYZREHBAN 2N E FHRRD HHAICE
WTC, HNBEERE T2 & SIXLMBIMEERED 5 b O TR T 55 & EE THIZ
FEDES 2T UE e B,

(H R N3 3R] TTT - T2 B D JNAO I EEHE DB HR)
F84& WAUAIT, AT L TH QIR TIT - 7o HE IR 2 A ORI EERED 55, A BN
TR 280 2 HFIT LIS =F TR T D580, SRR EAT RN, ZOEZHFHICEmICE
DL, H O COMFLOERZL DEEEGRTITR 520,

(P B O A3 CHF - 2 S 158 O I FENE O S F38)
$ 9% WROTIE, AR LCH IR TIF - 7= RISEILR 5 364 DRI FEREIZ SV =

15



WM A2 FFE T 25 A3, ZOFEORNHTHFICERDICEI Y ZoFEML, HOLUDHTF
FOERZLDRBEEZERTIUIR B0,

(H B NG 3 36 (] T T o 7o T BSOS I PEHE 0D SEHte)

5510 5 I ARZKCEI L T4 & 3[R TTT o 7o FE B ZE TR D AT O SNl i EEME A 3BR DU 3BIFFELIS N D
BRIZSE G L7220 L35, 72720, HITHO7-OIZE =FICEYWES®, IEEE T 55 =
(T DYra . BB CYREE S IRE T A N TE D B D LT D,

2 CPARZFNCEA L CTH & JLE 1T o 7o S 106k 5 I O FBU FEEHEIC D W C B ORI FE0E
95T, BOH OREENERE L2 LA, LORERNEROFEZEIZE L, Falc3ih
BEEIZOWTH Ol b, BRI ARHRET 2 D L35,

(F B ONC 3 36 TAT o 7o T8 B O R U BERE 0D L E)
%11 & HEOGIE, AZEKICB U CTH CIEFETIT - 7o 3B EIT6R 5 H O Fn M FEME & HEET 2%
Al YEBEEEATORNS, TOEZMEFHICEETHICEVEHL, HONCOMFELOERICED
El =g YA R N ECA SV AN

CETEHEDIRIR)
CAAVES B2 1 THLOE 745 1 HOBEIZ» Db LT, ARKWOAE LTE

A S AU 402 FEITAR 2 A FHEIC OV TE, RTHICIRIET 2,

2 ZiF, ATEICE S HROHMEET D H BT L DEMIONT, EIEE ABHELTTH L
WbDET D, Flo, LiE, BELEFMOFEFEENLLSNDOE TH D & 1T, UEIFE N FEE
MEHEEATHE L2 K ) [T BB 23D b D & T 5,

3 lE AN Ko T U B OV O RSB R D AT L, AL 2R Ch L FE
HRTHbDET 5,

(BHFFESUTRIN DS OWEE)

135 X, APFEELIImEIL, IE=FDO 12t 7eo 756 (LOBSMN
BELEGEZET, BI3HEFE 1 FIZBWTRHELUL) 1, FICk LEOFEHRE LTt
AN SN

2 FAFEOLEICRN T, EOEEFICESE | ERBFHOMERFERIIET 2BRICIRE L, ARKI DAL
RENRFEETENCB O THHRMITIEA S nBZnnd 5 L OB L& X013, ik, AR
DI ERE R ST DMER A HAMEE T D FITH Tl L7 T UE 72 5720,

3 I ARFKNARD AW UIERE R 55 = TR D856, IROBEBOWTNOHEL BT 52 L 44
BRI S B R T UE R B,

— AUFELIEAEIL, UIE=FD 1t L 2725813, BTk LEDOFHNIC
WET 5,

Z AT OSRICRNT, EOEREICESE | ERBFORERIERICE T BRI D
LAEBORENFEETICB O THENITTER ST nBZNNH 5 & A

16



L7z & & i3, AR D TR PEME & SE M3 2 MER & R N EE S 2 B (Rl
ERAR
= BIRE ST ARMERELY S DICHE =H IR T 5 L &1k, KEESOWTH
DEVE ST D Z & 2 YUBIREITN SE D,

(A8 DAR-FE)
B 145 BHROGIE, FB 256 K0E 75RO AEONEZ HFEABRZEIZ L Y NENAB S B £ Tl
WRAZW LTI DR, 72720, SO UHEMmICE Y HEXIIHFEEZITo 2B O TRES-5E
1T Z DR Y TiEAu,

(HE - TREA)
FO15 & i, RO NIT—HE2F ="FICREL., IHETAEDLYEESICBW T, Yizs
ZHICK LT, AERREOFSATEZER T 200 L L, QT2 ODIC B E 2 #E U Tn

X782 5720,
2 A3, BFEO YRS A DIAREROSTAIZED D FEIGEN LIZ5HA10E, FICH LETOETEEZA Y b
DETH,
(W)
%16 & 2R MOE 7T 5:DOGEITBWT, BUME U < 133 R o X3 37 o &6

BIZOWTERENELEXE, HAE L TEDDI LD LT S,
(B ZhHARD)
CAVES AREFISTEDOANHIBRIL, AREKIOFERE D B 2> 5 455 ma0H FEFE DN 5
HE T+ 5,

Uk

17



RE-00007444

BIAE  Task Definition Form 2
Replacement of Mirror 1 and 2



ITER_D_SEDLJK v2.0

REMOTE HANDLING TASK DEFINITION FORM

Task

Description

Replacement of Mirror 1-2 (RH class 2)

Task Objective

Replace the Mirror 1-2 unit in case of their failure or significant degradation of
reflectivity

Target Plant

Mirror 1-2 unit (M1/M2) of PBS 55.C2 Edge Thomson Scattering (ETS) on the EP10
Diagnostic Shielding Module (DSM) #1 right side. (DSM#1 is a unit assembled with
both the DSM#1 right and DSM#1 left.). See Figures 1 and 2 for the position and
structure. The total weight of M1/M2 unit is approximately 170 kg.

Due to its direct exposure to the plasma, the M1/M2 unit is designed with water-
cooling channels. The cut-off points of the water cooling pipes are determined by
PBS 55.QA, which employs a clam-shell type DSM. The cut-off points are located
between the rear end of the DSM and the closure plate.

The M1/M2 incorporates a mirror cleaning system designed to restore the optical
reflectance decreased by the accumulation of impurities coming from the plasma
side. In this system, high frequency is applied to the mirror, which functions as a
current-carrying electrode. The mineral insulated (MI) cables used to deliver high
frequency, along with the associated detachable electrical connector, must be handled
at the same time as M1/M2 during the procedures.

JADA-5526DEOQ047




ITER_D_SEDLJK v2.0

EP10 DSM#1 Right [&=

Shutter D
Unit

-

M1-M2 Unit
with built-in mirror
cleaning system

Figure 2: Structure of M1/M2 unit.

JADA-5526DE0047

,l

\J
R

M5 Unit

|
N,

2o,

N ’\\
-

¥
| 2
|




ITER_D_SEDLJK v2.0 JADA-5526DEOQ047

Start Point

The starting configuration for the remote handling (RH) operation of ETS components in the Hot
Cell assumes that the following operations have been performed already. These operations are out
of the scope of the ETS maintenance:

1. Remove DSM#1 from the EP10 port plug, then remove the DSM#1 right from the
DSM#1.
2. The M1/M2 unit remains mounted on the DSM#1 right.

3. Place the DSM#I right with the inside surface (where the M1/M2 unit is fixed) facing
upward.

4. Cut the water cooling pipes.

End Point

+ The new M1/M2 unit has been installed on the DSM.

+ The female RH connector (M1/M2 unit side) is connected to the male RH connector (DSM
side).

Assumptions

1. DSM#1 is inspected and cleaned to be re-usable.

2. Remote handling tools for refurbishing & servicing of ETS and spare parts are prepared
beside the workstation in Hot Cell facility.

3.  RH maintenance is performed with minimum customized tool.
4. Cleaning in the DSM will be performed with a tool like a vacuum cleaner.

5. The threads on the DSM side have a self-locking function, either by direct machining or
by using inserts (to be confirmed by the PBS 55.QA).

6. Cutting, aligning and re-welding of the water cooling pipes will be performed by PBS
55.QA.

Main Issues

1. Assembly work should be feasible in the RH sequence without causing any damage to
the M1/M2 unit or the DSM#1 due to contact.

2. In the RH sequence, the positioning repeatability after repeated assemblies must satisfy
the tolerance requirements of the collection optics (positional repeatability: 1 mm,
angular repeatability: 0.1°).

3. In the RH sequence, electrical connectors can be attached and detached within a tight
space without dropping out, while not threatening the structural integrity of the DSM#1.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Remote Handling Sequence
I. MI1/M2 unit disassemble method (outlined in Fig. 3).

ot A

\

Figure 3: Definition of part names related to M1/M2 unit disassembly.

(1). Clean inside of the DSM#1 right side.

(2). The Gripper is grasped by a manipulator, and lowered onto the cable clamp, with
alignment provided by the rough guide positioning pin. The captive bolt includes a
protrusion to assist in rough positioning. The tapped holes are designed with counterbore
entrances to enable rough centering and to prevent damage to the tap. Using the torque
multiplier (5:1) in combination with the bolting tool, the M8 captive bolts are tightened
to a torque of 25N'm (outlined in Fig.4).

Figure 4: Outlines of attach the gripper (detachable).

(3). Using the manipulator and the torque multiplier (5:1) with the bolting tool, loosen the
two M8 captive bolts on the cable clamp. The removal torque should be gradually
increased from the installation torque of 25N-m. Lift the gripper, along with cable




ITER_D_SEDLJK v2.0 JADA-5526DE0047

clamp, grasping the gripper using the manipulator. Apply this procedure to all three
cable clamps (outlined in Fig.5).

Figure 5: Outlines of the cable clamp disassembling.

(4). Using the two manipulators and the torque multiplier (5:1) with the bolting tool, loosen
the six M12 captive bolts that will be obstructed by the lifting jig. The removal torque
should be gradually increased from the installation torque of 60N-m (outlined in Fig.6).

Figure 6: Outlines of pre-loosening process.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

(5). Ensure that the lifting pintle of the lifting jig is connected to a crane and the grippers are
supported by a manipulator. Then, lower it onto the M1/M2 unit, with rough alignment
provided by one of the captive bolt heads (base plate side) into the Jig hole (Clearance
Imm), and opposite side a protrusion on the tip of the M12 captive bolt for rough
alignment. The tapped holes are designed with counterbore to facilitate rough centering
and to prevent damage to the tap. Using the torque multiplier (5:1) in combination with
the bolting tool, four M 12 captive bolts are tightened to a torque of 60N -m (outlined in
Fig.7).

Bolts into the counterbored f
bolt hole (base plate side)

Figure 7: Outlines of jig transport to M1/M2 unit.

(6). Rotate the jig slider handle to move the jig slider to the height of the RH connector
unit(outlined in Fig.8). The motion stroke is 97mm.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Figure 8: Outlines of positioning the jig slider to the RH connector unit hight.

(7). Grab the gripper and swing the lifting jig to insert the slot of the jig slider into the lift
pin. Tighten the M10 captive bolt on the lift pin stopper (torque : 37N-m). Finally,
loosen the M 12 captive bolt on the RH connector. The removal torque should be
gradually increased from the installation torque of60N-m (outlined in Fig.9).

Figure 9: Outlines of the lift pin insertion to slot.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Next change the crane hook position to the lifting pintle for all components (outlined
in Fig.10).

Lifting Pintle(for all component lift-up) Lifting Pintle(for JIG lift-up)

(8). Detach the RH connector by rotate the jig slider handle with support the gripper by
manipulator (outlined in Fig.11).

Figure 11: Outlines of detach the RH connector.

(9). Hook the lifting pintle to the crane hook with light tension before loosening the captive
bolts on the base plate and wedge block. Using the manipulator and the torque multiplier
(5:1) with the bolting tool, loosen five of the M12 captive bolts on the base plate. The
removal torque should be gradually increased from the installation torque of 60N-m
(outlined in Fig.12).




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Figure 12: Outlines of loosen captive bolt on base plate.

(10). Loosen four of the M12 captive bolts on the wedge block. The removal torque
should be gradually increased from the installation torque of 60N-m. Next, tighten two
of the M10 jack bolt at centre of the wedge block (torque : 37N-m) to release the
pressure on the wedge block. Then, lift the M1/M2 unit using the crane while gripping
the gripper, and store it in the radwaste storage (outlined in Fig.13).

Figure 13: Outlines of loosen captive bolt on wedge block.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

II. New M1/M2 unit assemble method (outlined in Fig. 14 and Fig.15).

Figure 15: Access view for the guide pin to the hole by camera.

(1). Lift the new M1/M2 unit from the storage and transport it to the DSM#1 location.
Ensure that the new M 1/M2 unit is clean when unpacked before being brought into the
Hot Cell, and handle it carefully to avoid touching the mirror surfaces during the
operation.

(2). Visually inspect with a camera that the guide pins are pre-inserted into the DSM#1
before assembling the M1/M2 unit (see Figure 16). As noted in the previous section "L
M1/M2 Unit Disassembly Method", these parts are not subject to remote handling.




ITER_D_SEDLJK v2.0 JADA-5526DEQ0047

Figure 16: Outlines of the guide pin pre-insertion.

(3). Lower the new M1/M2 unit onto the DSM surface, supporting it with the gripper and
using the cameras for guidance. Ensure the guide pins align with the holes, maintaining
a Imm clearance between the guide pins and the holes. The wedge block provides self-
alignment functionality (outlined in Fig. 17).
(outlined in Fig. 17).

Figure 17: Outlines of the new M1/M2 unit lifting process.

(4). Using the torque multiplier (5:1) with the bolting tool, tighten four of the M12 captive
bolts to half torque (60 N+-m /2=30 N*m, see Table “Remote Handling Tools™), while
maintaining light tension on the eye bolts to prevent the M1/M2 unit from tipping. If
fastening is difficult in certain areas, it can be done after removing the unit from the
crane. Next, release the lifting pintle from the crane (outlined in Fig. 18).

(1).Using the torque multiplier (5:1) with the bolting tool, tighten 4 of the M12 captive bolts
to half torque (60 N-m /2=30 N-m, see table “Remote Handling Tools” ) while
maintaining light tension on the eye bolts to prevent the M1/M2 unit from tipping. In




ITER_D_SEDLJK v2.0 JADA-5526DE0047

places where fastening is difficult, it can be done after removing the unit from the crane.
Next, release the lifting Pintle from the crane. (outlined in Fig. 18).

(5). In this process, using the torque multiplier (5:1) with the bolting tool, first tighten 4 of
the M 12 captive bolts on the wedge block (torque: 60 N-m), then tighten 5 of the M12
captive bolts on the base plate (torque: 60 N-m).

(2).In this process using the torque multiplier (5:1) with the bolting tool, first tighten 4 of the
M12 captive bolts (torque : 60N-m) on the wedge block, next tighten 5 of the M12
captive bolts (torque : 60N-m) on the base plate. (outlined in Fig. 19).

Captive Bolt(on base plate)

Captive Bolt(on wedge block)

Figure 19: Outlines of the screw tightening for specified torque.

(6). Connect the RH connector by rotating the jig slider handle while supporting the gripper
with the manipulator. Next, using the torque multiplier (5:1) with the bolting tool,
tighten the M 10 captive bolt on the RH connector (torque: 37 N-m) to lock the RH
connector (outlined Fig. 20).




ITER_D_SEDLJK v2.0 JADA-5526DE0047

(3).Connect the RH connector by rotate the jig slider handle with support the gripper by
manipulator. Next using the torque multiplier (5:1) with the bolting tool, screw the M10
captive bolt (torque : 37N- m) on the RH connector for locking the RH connector.
(outlined in Fig. 20).

Figure 20: Outlines of the RH connector assembling.

(7). Change the crane hook position to the lifting pintle for lifting the jig (outlined in Fig.
21).
(4).Change the crane hook position to the lifting Pintle for jig lift-up. (outlined in Fig. 21).

Lifting Pintle(for all compenent lift-up) Lifting Pintle(for JIG lift-up)




ITER_D_SEDLJK v2.0 JADA-5526DE0047
Figure 21: Outlines of the Lifting jig disassembling.

(8). Using the torque multiplier (5:1) with the bolting tool, loosen the M10 captive bolt on
the slider stopper. The removal torque should be gradually increased from the
installation torque of 37 N-m. Next, grab the gripper with the manipulator and swing it
to remove the end of the jig slider from the lift pin (outlined Fig. 22).

(5).Using the torque multiplier (5:1) with the bolting tool, loosen the M10 captive bolt
(removal torque is gradually increased from the installation torque (37N-m)) on the
slider for stopper. Next, grab the gripper with the manipulator and swing it to remove the
end of jig slider from the lift pin. (outlined in Fig. 22).

igure 22: Outlines of the L'i‘t:ting jig disassemblg. |

(9). Using the torque multiplier (5:1) with the bolting tool, lift and remove the lifting jig by
loosening 4 of the M 12 captive bolts on the lifting jig. The removal torque should be
gradually increased from the installation torque of 60 N-m (outlined in Fig. 23).

(6).Using the Torque multiplier (5:1) with the bolting tool, lift and remove the Lifting jig by
loosen 4 of the M 12 captive bolts (bolt removal torque is gradually increased from the
installation torque (60N-m)) on the Lifting jig. (outlined in Fig. 23).




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Figure 23: Outlines of the Lifting jig removal.

(10). Using the torque multiplier (5:1) with the bolting tool, tighten six of the M12
captive bolts on the base plate to a torque of 60N -m (outlined in Fig. 24).

(7).Using the Torque multiplier (5:1) with the bolting tool, tighten 6 of the M12 captive bolts
(torque : 60N- m) on the base plate. (outlined in Fig. 24).

Figure 24: Outlines of screw tight the captive bolt on the base plate.

(11). Using the manipulators and the torque multiplier (5:1) with the bolting tool, insert
the gripper with the cable clamp into the DSM rough clearance slot and tighten two of
the M8 captive bolts to a torque of 25 N-m. The removal of the gripper is the reverse of
step (2) in section 1.

(8).Using the manipulators and the Torque multiplier (5:1) with the bolting tool, three of the
gripper with the cable clamp into the DSM rough clearance slot and tightening two of
the M8 captive bolt (torque : 25N-m). Gripper removal is the reverse of 1.(2). (outlined
in Fig. 25).




ITER_D_SEDLJK v2.0 JADA-5526DE0047

Figure 25: Outlines of the cable clamp assembling.




ITER_D_SEDLJK v2.0

JADA-5526DE0047

Remote Handling Tools

Tooling Function

Characteristics

[Generic tool] Overhead crane
with the lifting grab 250kg

Standard crane. The lifting grab 250kg were in the
[HANDLING LIFTING PINTLE 250KG ASSEMBLY#C
6BLXL] reference from ITER D 9PQS86C.

[Generic tool] Dexterous
manipulator

It is desirable to have a reaction force sensor.

Torque multiplier (5:1)

This tool can be used to achieve an output torque within the
range of 25 — 70 N-m. Fastened to the handle is a
Manipulator Gripper Block that incorporates an array of 3
Off — LED’s, these illuminating when the set torque is
achieved (No need the torque reaction features).

Set to 60 N-m, with hex tools for M12 install. Set to 37 N'm,
M10 install. Set to 25 N-m, M8 install.

The removal torque for all bolts is gradually increased from
the installation torque.

Use with the torque multiplier and alone.
Needs the generic tool stroke has 150 mm or more.

[Generic tool] Lights and
cameras

HCF to provide

[Generic tool] Cleaning tooling

Vacuum cleaner

Lifting JIG (detachable)

Specialised detachable the Lifting JIG for lifting the M1/M2
unit (outlined in figure 3).

Gripper assembly (detachable)

Specialised detachable components for handling the M1/M2
unit etc. (outlined in figure 3).

Outstanding Issues

Date issue Date issue
Issue of concern Name .
raised resolved
Disconnection and reconnection of the electrical E. Yatsuka | 17/12/2015 | 24/02/2025
cables in tight space
Alignment of pipes during re-welding E. Yatsuka | 17/12/2015 | Not valid
anymore

Consistency of welding tool and component E. Yatsuka | 17/12/2015 | Not valid
configuration in the DSM anymore
A method to avoid looseness of locking bolts is E. Yatsuka | 17/12/2015 | 18/06/2025
needed.




ITER_D_SEDLJK v2.0 JADA-5526DE0047

1.

Bow o

5.
6.

i N

ITER D SEQXLW, DA Design Description Document (DDD) 55.C2-Edge Thomson
Scattering.

ITER D SCAYX®6, Plant Definition Form — EPP 55.C2 in-port components.
ITER D CY2WS3, 55.C2_Remote Handling Mockup Test Report (Replacement of M1/M2).
ENOVIA #BUUJRA.

& AM A

ITER D 9PQ86C, PBS 23.06.CM - Generic Tooling Specification Sheet.
ITER D U2UY9P v3.0 - ITR-55.QA-EQ port 10 55.C2 ETS (Drawing).

Since the DDD contains many design descriptions up to the time of the PDR in 2016, major
revisions are expected by the time of the FDR.

The PDF is in revision required status. Minor corrections are expected.
The procedures outlined in this document is being documented in a mock-up test report.

The models described in this document are newer than those sent in DET-07815-H. The
models in ENOVIA need minor update.

Generic Tooling Specification Sheet v3.1 is approved.
The latest interface between ETS and EP 10 as of June 2025 is accommodated.




	
	スライド 1




